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DO NOW
Given: InAABC, AB ~ BC

What conclusions can be drawn?

B ANABC is an isosceles NN\
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Proofs

Use the "GIVEN" information to mark your
diagram!

(conclu s\’ov\s\) ( A< ‘KV\.\’\’;OI’\SB

The first STATEMENT and REASON are
always the given statements

The FINAL STATEMENT is always what
you are asked to prove
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Given: RW bisects ST S
Prove: SW = WT R 4\
((_ov\clvs(o\/\S\ (C& (”%\/\.\"V\.OV\S\ T

Reasons

1. Given

7. Szﬁme‘(\-\- bise ctov '\"&WS?C’\’S

2. W is the midpoint of ST . .
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Given: In AABC, AB1BC A

Prove: AABC is a right triangle

1
B C
Statements Reasons
1. AR L RC 1. Given.
2. £ ABC s a right angle. 2. Perpendicular lines form right

angles

3. AABC is a right triangle. 3. If a triangle has a right angle, then it
is a right triangle. 1
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Definition of Congruency

If quantities are EQUAL, then
they are CONGRUENT

Statement Reason
1) AB=BC Given
2) AB ~ BC If segments are equal,
then they are congruent
(def nvion of %ﬂgfwv\o\\
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Given: ADEF with DE = EF =
Prove: ADEF is isosceles
D F
Statements Reagsons
1.fk=>Tph DE=EF 1. Given.
2. :D_E. *EFE 2. 5 rhon of Conoucncy

ADEF s isosexk €S 3. \soscg\eg A's have 2
= wdis
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Statement

Reason

1) Sis the midpoint of RT

1) Given

2) M Agownt Awidus & sui)MU\\_

ARS ST Yo Q= nmets
N\ = 5(6
{\K 2 oko\(
_405‘\\ Statein?nt Reésqn

|
1) AB bisects WY atX

2) % i wid poiet of WY
3) Wy {\\

1) Given
A S(‘iw\u\X Lt oV .\4\3«{.5(@.‘*
2)thng Seﬂmq\x at W midpoivy
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